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All Questions are compukory and each question is of 1 mark.
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Only Englbh version is valid in case ofdiference in both the languages.
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ltrcaedc.' lo
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(it)

l.

-r-

2.

tr<tc{ Ere, +q <rd (ccr+ E9 q4
qnrfluftqffiiiqeiqt
(a) Pro" = P*ge - P"t n

(b) P"ou = P*ur" + P"*
(c) P*,r" : P"5" + P*,.,

(d) P*: Peu,g" * Pub.

Els I srr+dr*
(a) l0 N/m2 (b) 103 N/m2

(c) tdPa (d) lo psi

l. The relation between Absolute
Pressure (P"uJ, Gauge Pressure

(P*p and atmospheric pressure

(P*") is
(a) P*. : P*r. - Pan.,

G) P"u" : Pe=ug" * P*.
(c) Pg"ug": P"b" + Pu*

(d) P"- : Pg_s. * Pub.

Pressure I bar is equal to

(a) t0N/m2 O)
(c) td Pa (d)

Relalion bctween kin€dnatic viscosity
(v) and absolute viscosity (p) is

fRiH Yqrdr (p)
(v){<riqt

(a) r:t
(c) p: pv

gi otliEo vqr+n

(b) p=;
(d) v = p-tr

3.

(a) ,:t
(c) p=pv

ld N/m2

l0 psi

(b) |t =;

(d) v = p-p
P.T.O.(t)
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Y<rTdr ii* ryD io'$ to or _ I
qfiFd-{ + trrq YqFrdr t di qrd
qfirqt++rqriq{qrqo.t r

(a) dFFIFI

O) srq
(c) ilFI-<ltI

(d) !,rFkFr

c+-_ qi r+q l++rq or r<q d-or t
qi qtk+' s-qt d rdq s-qi i qfirsfrd
q,.rart r

(a) rTEI

G) dqzr+.
(c) d'd
(d) qtc{

\ro,.qq +t :mqakossrdr 6tS t
Qo Qr(a) G (b) a"

(c) Qn ' Qr (d) Qn - Qr
qli eA: qrRt{s'qsr6({

Qr = *qf{s c-sr6<

rm 
QEdm+<r.nc$i-dri

(a) qsr

(b) +d{
(c) EIIFiI-{ra€I

(O fo{r{{tqr{6,

fu-er +1*a csrdr Ei&t
I(a) 1 +m stlqrd

C) +a sriqrd- I
(c) 1+*a1 **.

I(d) I -ffi q-lq(

2090

Viscosity Index (VI) is a relative
measure of an oil's viscosity change
with r€spect to_ change.

(a) Temperature

(b) Pressure

(c) Ternperahrre-Pressure

(d) Volume

A , which is the heart of a

hydraulic system, converts
mechanical energy into hydraulic
eflergy.

(a) Pump

(b) Accumulator
(c) Valve
(d) Motor

Volumetric efficiency of a pump is

QA,Qr(a) G (b) 
a^

(c) Q,r " Qr (d) Qo - Q,
Here Qo = Actual flow rate

Q1 = Theoretical flow rate

Q)

4. 4.

5.
5.

6.

7. 7. This symbol Q ."p.o*o in

Y
hydraulic circuit.
(a) Pump

O) Motor
(c) Value-shutle
(d) Piston Accumulator

Beta efficiency of a filter is
I(a) I + MR"tio

O) Beta Ratio - I
(c) I + Beta Ratio

I(d) I -B"t I"tio

E.
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9. qdqqftw ii lqa *enr<qtqr

10.

srart
(a) tdtrefss
(c) Fd

T^
(a) d

O) slq-fiws
(d) YvI-{.{

T.o)i

(+ +6t fuqr rfrq fis-d-<t *.tce c-sr
fu (v",-.ior) qd src$ aT (v,"ro.rion)

ilsqqt
(a) Vlertensionl > Vi."o*oion)

O) V"*teroio,r : V,.r.*rion

(c) Vor"rrsi* < Vr.t *tion
(d) iciffi{t+t{{fi

rtrq *at +1qiko<q-<r t11.

12. r&c qftqq f -)-Q- fua t em

<vriqqnrt
(a) {r.FI ZIIGI o) i-+ qr€
(c) rTEI (d) +'{

13. {re€T.llGI iFlnrdc i{t={ t
(a)

(b)

(c)

(c) T, x To (d) Tr-T1
wfi rn = fd-at gnr ssq er€fu+.

3ilqui)

Tr = (tz{EmuclqsI{atk+,
3lr{ot)

-Fq-FP
{-(d)

(3) 2090

circuit
(a) Limit switch (b) Pressure switch

(c) Relay (d) Push-Button

For a double acting hYdraulic

cylinder the relation between

extension velociry (V"*,.*i.r) and

retraction velocity (V,*"**) is

(a) V1"*t*.io.r; > V(,.t"u.tior)

O) Vo-rior : V.tt oi-
(c) Vextqrsion ( Vrcraction

(d) None ofthe above

Mechanical efficiency of a hydraulic
motor is

TA
(a) a-rT

(c) T.xT

T-
(b) f,

A (d) Tr-T^
Here To= (Actual Torque delivered

bY motor)

T, : (Toque motor should

theoreticallY deliver)

SymUof ->-fr represents in

hydraulic circuit.
(a) Shuttle valve (b) Check valve

G) Pump (d) Motor

The graphical symbol of shutde valve is(")-E-
(b) FE]--T-
(c)G

i
I

(d) ---o- 
P.r.o.

t
7

, Hl s)T nbol represents in hydraulic

i

10.

I l.

12.

t3.



{sf,qret
(a) Yq6'futffiare
61 trnfoiroam
(c) {g+er@
tal sqimiit+ttTfi
cEcii r-s + rsr6-6l a{ t

o{a) A
O) Q+A
(c) Q"A
1a; svriaiitotiml
qd'A: ir1mqflz.nreirw

q = u-<rc <r iarcaf++;

r+qvrFffiE}'*t
(a) PxQxA (b) P,Q

PO(c) 0 (d) A
qri p:rqqtErs

Q = Eq 6I TEIT6 ET

A= rrdc-g{ 6rc6r *rIFt
qqnstuTnd-drt
(a) srE-E}dsr{{cftct{
1u) qqffidBrcftqr
(c) rq<Iq-Hqfqrfqftqq
1a; ent<{t+}i+fi
ryr srs (BP) qd dffi <re (wp) ii
{Eiq t

WP(a) BP: 
FS
BP(b) wP =Fs

(c) BP=WPxWP
(d) wP=BPxFS
qii rS = Swr rJuri6

rgrqrqd rJksr fl own *m t
(a) 3 x qrq qu ET{
(b) 2 x rIuI Ytll-6 (t

qq s-qr6 Et(c) 
3

qq !En6 <t(d) 
2

2090

Needle valve is a
(a) Flow contol valve

O) Direction control valve
(c) Balance valve
(d) None ofthe above

ln pipes, flow velocity of a liquid is.o(a) ;
O) Q+A
(c) Q, A
(d) None ofthe above
Here A = Cross sectional area

Q : Flow rate (volume)

Hydraulic power is

(a) PxQxA (b) P'Q
PO(c) 0 (d) i

Hete P = Pressure of the fluid
Q : Flow rate ofthe fluid
A = Cross sectional area

is used in punch press
(a) P ressure-l ntensi fier circuit

O) Pump unloading circuit
(c) High pressure-low flow circuit
(d) None ofthe above

Relation between Burst pressure (BP)
and working pressure (WP) is

w?(a) BP: FS
BP

O) wP: 
FS

(c) BP=WPxWP
(d) WP: BP x FS

Here FS : factor of safety

Generally reservoir size is
(a) 3 x pump flow rate

O) 2 x pump flow rate
pump flow rate

J

pump flow rate
2

(4)

14.

15.

t7.

18.

16.

14.

15.

17.

18.

16.

19. 19.

(c)

(d)
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20. Otra"r*- **
Y

(a) q'fr+.rktftsn-{
G) Wffqqq-okvrqr
(c) Wfrcr.{, qa fusrqt
(d) sqn-ndt+{Td

(a) lksr, Cdi
6y ,1ts+r{ka
(c) cq-qc{r
(d) t{

r+{ qfrqrr ii rd{ H ori erd el€
kiq-sr+.ditr
(a)2 O)3
(c) 4 (d) 5

cr6 i ltrFr, tcrq cr tm +t urr t .rqiq
qrn if qq fiS t d, vtr c{ qrdr s}
lwniwv-odt, rHrt
(a) slt+k{
6y nqrrF<-5
(c) qmet{5

1ay sntmtt+t*a-fr

2a. 5ftt *et rm rc< orqoi C}qrF{O t
VoxP

2r.

Yox2n
p

2xP
VD

scttnitt+i{fi
Vo: en+r+ fuWlT
P=(ltt

23.

(a)

o)

(c)

(d)
ET6T

2090(s)

20. 
$ 

.^*, is used for

(a) Rotary motor - fixed
displacement

(b) Rotary pump - Variable
displacement

(c) Rotory motor - Variable
displacement

(d) None ofthe above

(a) Reservoir vented
(b) Reservoirpressurized
(c) Pump - Open
(d) Motor

22. How many types of valves used in
Hydraulic circuits (Basic types) ?

(a) 2
(c) 4

o)3
(d) 5

The temperature at which the oil
surface gives off suf6cient vapour to
igfte, whcn a flame is passed over
the surface, is Lnown as _.
G) Fire point
(b) Flash point
(c) Freezing point
(d) None ofthe above

Thmraical torque generated by a
hydraulic motor is

VoxP
(a) 2"

V^x2n(t))L
P

2tt P(c) \/
'D

(d) None ofthe above
Here Vo : Volume displacanent

P : Pressure

23.

24.

P.T.O.
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25. Ta uqrd-irrl <re erdi oal t- kv rgt
dat
(a) rftrrcuT

16; t5465'kwtr+vw

(c) .ie qq

1a; srn'm,ii+i.irfi

zo. r*qqftqqorqco'+fit
(a) dPl

O) q-q qq

(c) slfrr
(d) rJte+r

27. {qFrdliIFFIFI +{6i +{H
(a) {rfr
P1 vafr

(c) +tqfirq-dqrfia-dr

fal sq+nitBttTfi

tr

2E. qkNR 6 qrt 2000 *
q-crcvlid +dr t t

(a) '5q
(b) qrqr

(c) *.er<r*tqr<
1ay srt<{t+t*+fi

29. "o-d'w'r6mmt
(a) vEr O)

(c) 'IEt (d)

fdr td

qrqq nfifur

t{

,0. *-quot
(a) qn

(c) rpm

(b) fr-cR

(d) €t+.

(6) 2090

Used for high flowJow Pressure

applications :

(a) Dynamic PumPs

(b) Positive disPl acement Pumps

(c) [.obe PumPs

(d) None ofthe above

Which is not a component of a

hydraulic circuit ?

(a) Oil

(b) Hydraulic PumP

(c) ComPressor

(d) Reservoir

27. Tlte value of viscositY is

the increase in temperatue

(a) lncreases

O) decreases

(c) does not change,:

(d) none ofthe above

lf the value of N* is
flow is laminar.

(a) less than

(b) more than

2000, the

G) equal and more than

(d) none of the above

25.

26.

28.

29. "ELBOW" is a

(a) Pipe

(c) Pump

Unit ofpr€ssure is

(a) bar

(c) rpm

(b) Pipe fitting

(d) Motor

(b) rebar

(d) stoke

30.
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ale' O yqasra qffit v?yCd6re?qfu#rars?frd' r

Notc : Question No. I is compulsory, answer any fwe questions from the renaining.

(i0 cdo sfl *sc? cFit ol warc q6 sN dfl dfuq t
Solve all parts ofa question consectttively together.

@, sdqsrul adgoCrnara#&q r

Start each question on a fresh page.

O, dit swqt t qar FH o1 ffi it ddql opn aT qru t r

Only English version is valid in case of difference in both the languages.

1. (i) qr$-o$Ii+qqfukt 
r

State the Pascal's Law.

60 cqwrart €flcflr{Fsat?
What do you meant by Pump Capacity ?

(iii) 614 + qqrrrnqrdi or erfto{ul dH r

Classifu the valvcs according to function.

1iv) <nfiwawu{wttz
Wbat is the use of pressure switch ?

(v) *oeraufuaqrti r

Draw the symbol of check valve.

2. (r) fiq+iqfirwfuddH:
Define the foUowing :

(a) v.lFr
Viscosity

O) q.{i6'k€
Flash point

(c) qtr{k{
Fire point

(7)

(2'5)

P.T.O.

2090
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1ii1 rau-<rtlorarfrorordH r

ClassiS the fluid flows. (6+6)

3. (i) qdqsqr*+fqfirq qe{d+t{it: Y'd+-mor{ s{flr{t r

Whar are the various components of hydrautic systern ? Explain the functions of
each.

6i; 2ffifu+H< rrft r<r++,dorffi +r aolq+fu+ r

Describe the working oftelescopic tinear actualor' (6+6)

4. (i) r-&qqftq qfir@-{+fu-{idatHq-{dfut I

Discuss the principles of hydraulic circuit desip'
(ii) q*-p;ilr'u*it'q q'nor"r Ama r ffi G tfln fr+{'r *e +t orffi

slrflEt r

classifi the directional conhol valves. Explain the working of any one directio,n 
_.

control valve. (6+6)

5. (i) trq{t{dfilr.qtiwffi+r<fu*qut-{dm I

Describe the mnstruction and working of gear motor with the help of diagram'

(ii) <n ffiqqre+tarffi dqftrqq-grd r

Explain the working ofpressure reliefvalve with the help ofdiagram' (6t6)

6. (i) r+qdqrqqi+flTgq+{tr ffi \rs'r*qdqrco,orefiil-d+t+dfqi r

What are the uses of hydraulic accumulators ? Describe any one hydraulic

accumul ator with di agram.

iiil qw u-erm$ qq +t q-ffieqi sr{qUII+ or cf€ q+{ 61iq+ r

Describe the construction and working of single acting reciprocating pump' (6+6)

7. (i) r+cnq+Hffi{dqftqqfi'q}\'?iss+l+rffi qqgrgt t

Draw the intensiEer circuit for hydraulic press and explain its working'

(iil qrqqi * qr{+6(q G frftiEtqur t qrc flT {lr{d t ?

What do you underst rd by sandardization and specification of pipes ? (6+5)

s. Hqtqr{fuqffiuPfrtutut:
Write short not€s on any two :

(D ffiqIft
Pressure gauge

(ii) qEc qFr6ffi{ gi darse
Piping design & layout

(iiil *srorr*+fiw
Hydraulic circuit for Loaders (6l-6)


